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2A: BE
M HE A =MEY TN (SZ/HBB5AY)
Ol HEA SMME F)DH (crelme)
. 4
A IS (B - HRAY - BAS 0l &k o e SmEET
02 & &Y 3,700,000 0 3,700,000
OZuE N ¥ SHS 25 3,700,000
= 2,220,000
= 1,480,000
401 Al HIZ 201 8] 800,000 0 800,000
= 480,000
= 320,000
01 AIEHI 795,000 0 795,000
OAOE d8lT Al =4 795,000
= 477,000
< 318,000
03 AlE 2 0HHI 5,000 0 5,000
O3 AL S 5,000
= 3,000
= 2,000
405 THatF S 2,500,000 0 2,500,000
= 1,500,000
= 1,000,000
01 ML =SS FSHI 2,500,000 0 2,500,000
OMS ¥ SHFEE =8A 2= 2,500,000
= 1,500,000
< 1,000,000
LiOt D&l (Green) T Al 28 ADE DAl &AM 4,480,000 0 4,480,000
®(= 1)
= 4,200,000
& 280,000
403 X SHH S0l & 4,480,000 0 4,480,000
= 4,200,000
= 280,000
01 XG2S = 4,480,000 0 4,480,000
OZE ANE delT Al =4 4,480,000
= 4,200,000
= 280,000
B MICEAY XI& 720,000 800,000 80,000
FHEY 720,000 800,000 280,000
307 21201 A 720,000 800,000 280,000
02 BIZtH A AMPE X 720,000 0 720,000
OFHZE 2022 720,000
Uoled 2 (2 /001) 53,525,953 38,639,013 14,886,940
= 43,253,492
& 10,272,461
QIS AL 2te 53,525,953 38,639,013 14,886,940
= 43,253,492
& 10,272,461
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S
I‘IiH: [:Hjlé
@

2 BH(Z/U01)
chelr QAU E AL 2tel (et
. [
SN EAEA) - MEAY - BES 0l &k o e SmEET
SLEEE HHEAE 22 10,890 9,700 1,190
201 29| 2,000 0 2,000
01 At 22l tl 2,000 0 2,000
O&FE ZAEH 29 2,000
202 o4l 7,000 7,000 0
01 =LA 8l 7,000 7,000 0
OZAEANEE NEFEZH 7,000
301 LA Z 1,890 2,700 A 810
09 HALAMBIXIA S 1,890 2,700 A 810
OAL72 HHEMSE JI=sXE 1,890
SFE2YXZAAS 29 2,170 3,100 A 930
201 L2 2,170 3,100 A 930
01 At 22l tl 2,170 3,100 A 930
OHZ=HZRAS 29 2,170
A2 AEE ZRAE X (=12) 3,856,400 4,588,000 A731,600
= 3,110,000
= 746,400
403 X SHH S0l & 3,856,400 4,588,000 A731,600
= 3,110,000
= 746,400
01 RXIEHA2E = 3,856,400 4,588,000 A731,600
OYXAE XA S 3,856,400
= 3,110,000
= 746,400
ESANGE dSHE NAE(=12) 279,000 0 279,000
= 225,000
= 54,000
403 XSS 201 H 279,000 0 279,000
= 225,000
= 54,000
01 XX A2 = 279,000 0 279,000
odzdE N S 279,000
= 225,000
= 54,000
SHQLIAZAMA 2E22(21) 19,425 18,400 1,025
= 16,892
= 2,533
403 XSS 201 ™ 19,425 18,400 1,025
= 16,892
& 2,533
01 HXEMAEE X 19,425 18,400 1,025
O+ZLEZAMA =2 19,425
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EA: A
MM o123 S (SHH/UII)
CtRl: QAEHIsSAIE 22 (cH A
2 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
= 16,892
= 2,533
DIMSHX HSEH F&X 18,400 33,500 A 15,100
201 et A H| 15,000 30, 100 A 15,100
01 AFR 22l bl 15,000 16, 100 A 1,100
O0MEX S 15,000
202 04l 3,400 3,400 0
1 2ol 3,400 3,400 0
ODINMHXNUHSE0 dRFA 3,400
FAEHES0I2AIE HMNA 36,000 36,000 0
308 AHXIEHMIES 0| A 36,000 36,000 0
01 IXSHHIBABEXS 36,000 36,000 0
OAUWZBI1& =3XNE L AlEHH 36,000
IIEE NsA 222 E2AH(2D) 440,568 335,088 105,480
= 367,140
= 73,428
403 XX SHHE X201 A 440,568 335,088 105,480
= 367,140
= 73,428
0 FXIEHH A 28 X 440,568 335,088 105,480
OJEE N=sAE2Y B2 440,568
= 367,140
== 73,428
C2THHI AT HZAIS (RE)(=2D) 300,000 0 300,000
= 150,000
= 150,000
405 XFAHF S HI 300,000 0 300,000
= 150,000
= 150,000
01 XhaHY 2 2 F S| 300,000 0 300,000
O Z MEIMHX H2ZALS 300,000
= 150,000
= 150,000
S 2HHIAHIT M2ZAIS (X)) (=2D) 300,000 600,000 A 300,000
= 300,000
403 IXSHHEX=201H 300,000 600,000 A 300,000
= 300,000
01 AXSHIEEE 300,000 600,000 A 300,000
OEZ MHIMHX HZAFS 300,000
= 300,000
S BHESIIA 42 (=21D) 45,285,510 28,702,215 16,583,295
= 36,794,000
= 8,491,510
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SN BB
I ODIsE B (SH/00])
chelr QAU E AL 2tel (etel®E)
2 5 4 14
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
308 XXM SO0l & 45,285,510 28,702,215 16,583,295
= 36,794,000
= 8,491,510
01 AXEHBAEES 45,285,510 28,702,215 16,583,295
o3 2JIHX XA 24,913,320
2 20,761,100
= 4,152,220
OdRAsX HAMZEX EX 10,999,560
= 8,461,200
= 2,538,360
OLPG AXIHE XA 22,620
= 17,400
= 5,220
OPM - NOxXsS Al M2 E X & X 1,199,250
= 922,500
< 276,750
OHEIAH HHAMZEX &X 467,280
2 389,400
= 77,880
OALEIIAH A& H K& 5,179,680
2 4,316,400
< 863,280
OLPGSt S Xt A X7 K& 2,503,800
= 1,926,000
= 577,800
Oglo] Stz LPGI &2 X2 (=21) 659,750 1,508,000 A 848,250
= 507,500
= 152,250
308 AXIEM SO0l 659,750 1,508,000 A 848,250
= 507,500
= 152,250
01 AIXEHBAEES 659,750 1,508,000 A 848,250
OO0l SstAtg LPGAH &8 XI& 659,750
= 507,500
= 152,250
BE0/2t A0 HANZER d5 /XA - 22l (=22) 780 0 780
= 600
= 180
308 XXM SO0l 780 0 780
= 600
= 180
01 AXESHILEXS 780 0 780
OMHMZEI 5 RA - 22 780
= 600
= 180
DIMEX SHHE IZAAXRAL (FA)(2D) 2,317,060 2,317,060 0
=2 1,782,360
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S
I‘IiH: [:Hjlé
@

H
Lo

(23 /THDI)

4
(=)
SA&2e

©helr o b | (ee:@d
5 s SiE|
SA-EZH-SA(BAH) - NRAY - BHES Off &k ot ‘agﬁ Hlns2
= 534,700
308 XHX| £+ X S0l & 2,317,060 2,317,060 0
2 1,782,360
3 534,700
01 X SHBAEES 2,317,060 2,317,060 0
oA 29 2,317,060
2 1,782,360
& 534,700
MEEAE JH(BE/HIIS) 42,346,127 42,939,279 593, 152
=2 27,087,003
=3 15,259,124
M HIIZ SEMC 10,974,877 8.802,629 2,172,248
2 7,523,503
=3 3,451,374
HOl2o oHE= w2 674,442 374,800 299,642
201 Lt | 5,000 5,000 0
02 322%H| 5,000 5,000 0
OB=HIISE 3 o5/t 5,000
202 o4l 6.800 6,800 0
01 2K ot 6.800 6.800 0
OXdzs HdT5 L2ET 6.800
207 RO b 140,000 0 140,000
01 AP 140,000 0 140,000
AT TAEE ABHE 2 140,000
308 XXl €A S0l & 522,642 363,000 159,642
01 X SHBAEES 522,642 363,000 159,642
OLASALAN 2 522,642
otd & ateAedl HaH(21) 603,786 597,014 6.772
=2 535,000
& 68,786
308 XHXI X S0l & 603,786 597,014 6.772
2 535,000
& 68,786
01 IXISHBAEES 603,786 597,014 6,772
OBHEGI T HatAIY 603,786
2 535,000
(S 68,786
Hs%gII8 +I1H2 2L2(2NAINL) 172,996 126,085 46,911
403 XiXISHAI S X201 & 172,996 126,085 46,911
02 ZII2SOIHE X = 2 E A b 172,996 126,085 46,911
OsAelY, 2N +HAY 223 172,996
SEHHY 22432 U (2D) 255,700 253,350 2,350
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A
X XH -
(=

S

MEEZ OHL(2Z/HIIS2)
MEH HIOI2 X

. 4
SH- B (BAH) - HBEAMY - BES O &k o e Hl R =2
= 255,700
308 AXIEtM SO0l & 255,700 253,350 2,350
= 255,700
01 AXEHBAEES 255,700 253,350 2,350
O=ZHHdle =8l XA 255,700
= 255,700
=SdotE =& N (21) 323,436 357,000 A 33,564
= 190,257
= 133,179
403 AXISHMS K201 A 323,436 357,000 A 33,564
= 190,257
= 133,179
01 AtXIEMA 282 323,436 357,000 A 33,564
O=ZHHE Es&dotd &5 323,436
= 190,257
= 133,179
Zdl0IE M2XNA(21D) 7,851,055 6,917,880 933,175
= 6,542,546
= 1,308,509
403 XSS 201 ™ 7,851,055 6,917,880 933,175
= 6,542,546
= 1,308,509
01 AXIEMA2E L 7,851,055 6,917,880 933,175
OL-==d40E H™cldl s N 7,851,055
= 6,542,546
= 1,308,509
29X £d0E MelX& 88,500 0 88,500
308 XAXIEM SO0l & 88,500 0 88,500
01 AIXEHBAEEES 88,500 0 88,500
O2& - &X =dIoE MelX& 88,500
=2 43 XA 1,004,962 0 1,004,962
403 XX SHMSA201 A 1,004,962 0 1,004,962
01 XIS 2EX2 1,004,962 0 1,004,962
OXd=g &4z XN 1,004,962
HIOIZ2HM2ANEES 31,371,250 34,136,650 A 2,765,400
= 19,563,500
= 11,807,750
MYl A2AIE EX(=1) 21,666,000 19,265,800 2,400,200
= 13,740,000
= 7,926,000
403 RAtXIHMS K20l A 21,666,000 19,265,800 2,400,200
= 13,740,000
= 7,926,000
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A

PSELE

el H IEHEI/\I *5% EERED
. 4
SA-EY S () - NEAY - B Ofl &F 04 agﬁ RS2
MNX S22 X 21,666,000 19,265,800 2,400,200
OMY Il A22ZAIE &EX 21,666,000
= 13,740,000
== 7,926,000
A SETHR S| 2= Al E | XI&(=21) 3,264,000 916, 100 2,347,900
= 1,920,000
& 1,344,000
403 XX SHHS K201 A 3,264,000 916, 100 2,347,900
= 1,920,000
== 1,344,000
01 AIXSHA=E2E X 3,264,000 916, 100 2,347,900
OME T3 =HdEH &X 3,264,000
= 1,920,000
= 1,344,000
SOEHIIZHAAL HX(2D) 518,500 861,000 £ 342,500
= 100,000
= 418,500
403 XX SHHE X201 518,500 861,000 A 342,500
= 100,000
= 418,500
01 XIXISH A28 X 518,500 861,000 A 342,500
OsUHE=HIIE2XM2AIE &X 518,500
= 100,000
c 418,500
ez sdot"g 44X XN (=21) 341,250 360,750 A 19,500
= 262,500
o 78,750
403 XX SHHS K201 ™ 341,250 360,750 A 19,500
= 262,500
= 78,750
01 AXSHMA=2E X 341,250 360,750 A 19,500
OMEMY DI 22HE HEANE &X 341,250
= 262,500
= 78,750
22IotA &X XN 150,000 0 150,000
403 XX SHHS K201 ™ 150,000 0 150,000
01 AIXSMAE2E X 150,000 0 150,000
OME MY Il 22lHiE HEAE &R 150,000
MEHIIS HEAIE AX(=21D) 5,431,500 7,926,700 N2,495,200
= 3,541,000
== 1,890,500
403 RXISHE X =0l & 5,431,500 7,926,700 2,495,200
= 3,541,000
== 1,890,500
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SH: BADY
Hu: MEEY N (Y/HIIS)
ool HIIZMeIAlLRE CERED
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
01 XIS A= % 5,431,500 7,926,700 A2,495,200
OMBHIIZ WAL X 5,431,500
= 3,541,000
= 1,890,500
HRNASH (B /HIIE) 1,640 2,100 A 460
NEotss 2#B4Y 8 =X 1,640 2,100 A 460
HANY S MEN E4 1,640 2,100 A 460
201 LBr2 Y| 1,640 2,100 A 460
01 Ak 2reltl 1,640 2,100 A 460
oBINY B4 L o3| 2Y 1,640
ROBASH(BY /X ) 14,016,367 10,377,500 3,638,867
= 9,209,000
= 4,807,367
Ny 2F U AL BB 4,169,400 2,672,700 1,496,700
= 2,895,000
= 1,274,400
TelBAEA B 460,900 160,900 300,000
202 01| 5,900 5,900 0
01 2Uh ot bl 5,900 5,900 0
OMUBALO RET 5,900
207 AR L] 90,000 0 90,000
01 23 E49H| 90,000 0 90,000
OBNBENY & L HBH 2 90,000
307 QI2+0| & 105,000 105,000 0
05 QI2t el 2 105,000 105,000 0
onelsER 29 105,000
308 X+XI EH7I S 01 & 50,000 50,000 0
01 RXISHBARES 50,000 50,000 0
OABND MEHIBBHNY 22l 50,000
401 Al EHI LSO H 180,000 0 180,000
01 Al b 180,000 0 180,000
oXteistae 29 180,000
405 THaHE S| 30,000 0 30,000
01 U YSZF S| 30,000 0 30,000
oXteistsd 29 30,000
2OIMESSHEYE FH(2D) 2,280,000 1,080,000 1,200,000
= 1,900,000
= 380,000
403 XX S S THE 0l ® 2,280,000 1,080,000 1,200,000
= 1,900,000
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fAM A3

HH: NABASH(BY/XN)
C9l: NOEY B Y AL 2HE (&5 &8
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2

= 380,000

01 XEXISHAI X2 2 = 2,280,000 1,080,000 1,200,000
oszhe Mol MEHEYE 600,000
= 500,000
= 100,000
OBF Yz MHEYE 600,000
= 500,000
= 100,000
oYL (BE) MHELE 480,000
= 400,000
= 80,000
OstMet XN Wit 2 600,000
= 500,000
< 100,000

DIz MEAHSBH DSEL(21) 750,000 390,000 360, 000
= 500,000
= 250,000

308 XXX SOl & 750,000 390,000 360, 000
= 500,000
= 250,000

P ER RS 750,000 390,000 360, 000
OSAMZESIAHSAH NET2I2 X2 750,000
= 500,000
< 250,000

MEZERY Y 2 S48(=21) 279,500 284,700 A5,200
= 215,000
= 64,500

308 XX EHHISOI A 279,500 284,700 A5,200
= 215,000
= 64,500

P EREES 279,500 284,700 A5,200
OMEHBZXY NY % sS4 279,500
= 215,000
= 64,500

oW BFDST2]Y 2¥(21) 286,000 286,000 0
= 200,000
= 86,000

307 212+0| ® 286,000 286,000 0
= 200,000
= 86,000

02 DIt A AL 2 X 286,000 286,000 0
O¥4AW #ZNSs Tz X 286,000
= 200,000
< 86,000

AAME SNEA ABEZ2IY 2 (2 1) 104,000 104,000 0
= 80,000
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fAM A3

Hu: NOSTBH(HY/N)
Celt XS BX U A HE (e @
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
= 27,000
308 XX S S 0| ™ 104,000 104,000 0
2 80,000
= 24,000
01 HXSHBLRED 104,000 104,000 0
OBM2 SNECA AFT2I X8 104,000
2 80,000
= 24,000
MeCes B8 2 NaIss & =3 5,000 35,600 30,600
201 Yot Y| 5,000 5,600 A600
01 AR 22l 5,000 5,600 2600
OMSUZH 938 L KB 5,000
YACHADSNEARE 29 4,000 0 4,000
201 Qg2 | 4,000 0 4,000
01 AR 22lt] 4,000 0 4,000
OBIDSTESNE 29 4,000
OUE - A2 25 B 9,798,167 7,656,000 2,142,167
2 6,314,000
= 3,484, 167
OFMES T (RD) 1,243,000 976,000 267,000
2 997,000
& 246,000
403 THXISH S T2 0 H 1,243,000 976,000 267,000
2 997,000
& 246,000
B FEEES 1,243,000 976,000 267,000
CERENLTES 1,243,000
2 997,000
= 246,000
ASF XHEH SEtel &% (2D) 3,288,000 2,640,000 648,000
2 2,192,000
= 1,096,000
403 XIS H S K20l 3,288,000 2,640,000 648,000
2 2,192,000
= 1,096,000
01 KX SR =2 % 3,288,000 2,640,000 648,000
OASF XtEt 2Etel &x 3,288,000
= 2,192,000
= 1,096,000
ASF CHS OFM NG AIZTE L ATHTR K& (2 2,175,000 1,575,000 600,000
1)
2 1,450,000
= 725,000
308 XX EHH S 0| ™ 2,175,000 1,575,000 600,000
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EA: A
M [JosBEAM(HF/AA)
el OPME - A2 25 B EER-E
5 4 14
S EH O (BH) - MEAY - BA2 Ofl &F 0 agi RS2
= 1,450,000
= 725,000
01 AIXSHHMBAAEEXZ 2,175,000 1,575,000 600,000
OANEMF L MM X& 2,175,000
= 1,450,000
= 725,000
ASF OIS ZEE2MZ2 Y Za8s & 367,500 525,000 A 157,500
308 XX EMSO0I& 367,500 525,000 A 157,500
01 XS HIBAABEXS 367,500 525,000 A 157,500
OASF s Zazaz & ZT2ass I 367,500
ASF XSt SEtel 221 (=21D) 868,000 0 868,000
= 620,000
= 248,000
308 XX EMSO0lI& 868,000 0 868,000
= 620,000
= 248,000
01 AIXSHMBAEXZS 868,000 0 868,000
OASF XS SEfel 22l 868,000
= 620,000
= 248,000
MEFHAMHIAXEM(Z2D) 176,000 88,000 88,000
= 120,000
o 56,000
308 AXIEMSOHA 176,000 88,000 88,000
= 120,000
= 56,000
01 AIXSHHMABAAEEXZ 176,000 88,000 88,000
OHEMES ALY 176,000
= 120,000
= 56,000
OfMESE RPX2ZHAH 29(=21D) 550,000 480,000 70,000
= 165,000
== 385,000
307 Q120 & 550,000 480,000 70,000
= 165,000
== 385,000
02 QIZ2HA APAIE E X 550,000 480,000 70,000
O0tMEs 2Xx&cdH 24 550,000
= 165,000
= 385,000
O S - A2 B35 196,000 280,000 A 84,000
308 XX SHHMSOIA 196,000 280,000 A 84,000
01 IXSHHBAEEXZ 196,000 280,000 A 84,000
OOMESE TollE2a XA 196,000
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SM: #A
HH: NABASH(BY/XN)
Sel oS - A2 25 e (&5 &8
% 5 15|
SA B S (BH) - MEMY - BES Ol & 24 i BlRE2
DlSHUN MEADRE HH(ZD) 600,000 600,000
= 500,000
= 100,000
308 XX €M S0l ™ 600,000 600,000
= 500,000
= 100,000
01 RXESHBARES 600,000 600,000
ORlEM LR HEAYXE XA 600,000
= 500,000
= 100,000
MEIHDR M2 EX A (2D 276,000 288,000
= 230,000
= 46,000
308 XXl EHH S 01 & 276,000 288,000
= 230,000
= 46,000
P ER RS 276,000 288,000
OMEIDES M X 276,000
= 230,000
< 46,000
HAXISHIZTRA(2D) 58,667 44,000
= 40,000
= 18,667
308 XX € X S0l & 58,667 44,000
= 40,000
= 18,667
01 XS HBARES 58,667 44,000
OMAIXIS 2 &I 2K 58,667
= 40,000
= 18,667
NABBBHBE 23 48,800 48,800
HAEAL 29 - B2 48,800 48,800
308 X+ £ H S 0I & 48,800 48,800
01 RXESHBARES 48,800 48,800
OSLRY NYUFAX 2 48,800
NZE S8 Mo (BY/BIES 477,800 384,800
= 110,000
= 367,800
cyze 2 477,800 334,800
= 110,000
= 367,800
2 CY3E 29 2 2o 13,800 13,800
201 2Bt | 4,200 4,200
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